EQUATIONS
1.
Solve.

a)
log2 (3  2x)  log2 (2  x)  log2 3

b)
log4 (x2  1)  log4 6  log4 5
c)
2 log (3  x)  log 4  log (6  x) 

d)
log2 x  log2 (x  7)  3
e)
log2 x  3  log2 (x  2)



f)
log2 (2  2x)  log2 (1  x)  5
2.
Solve. Round your answers to two decimal places.

a)
9x  51





b)
4x  3  260
c)
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d)
2x  5x  1
e)
7x  4  83x




f)
2(5x)  4x  1
3.
Solve and check each solution. Round to two decimal places when necessary.

a)
log (2x  3)  log (x  2)  1  0

b)
log5 (3x  1)  log5 (x  3)  3
c)
log2 (x  2)  log2 x  log2 3 


d)
log9 (x  5)  1  log9 (x  3)
ANSWERS

1. a) no solution  
 b) 
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 c) 3   

d) 8  

e) 2   

f) (3
2. a) 1.79  
b) 1.01   
c) 13.6

 d) (1.76   
e) (1.81 

 f) (9.32
3. a) 2.59   
b) 8   

c) no solution  
 d) 6
.
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